Name

Simplify.

1 (abBCZ)(abcg)
' (abb%c)

2 Pw

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

(—pw?)(pPw?)
7"9])3
(rp8)(—r3p?)

(*7%)(—y°2)
(y25)

(a®25)(—ax®)
(a®T)

(4a3b2)3
2a2b)°

(9p2w)2
(6p2w3)2

—rp(—rp)®
(714p2)2

(—km2)4

(km )3 (km?)

ab(—a3b)?

(w224)3

(3071 (=50 2)
—6a7%8% - 5042
9z~ Lyt - Aoty
(—4c™"d*)(—2c2d %)
(=3u w9 (5ubwb)
l4z_4y_3 - 3z5y8
(nr=8)(=2n%2)
—7ay3 . 5a‘1y‘2
(13K°m™=3)(2k3m 1)

(m~3z4)4(2$—6z8)—2

Date




22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

(3(136_2)*2((1‘460)_3

—1579
30p~2

w’lz‘?’
w272
w*5w71y3

wdzy 2
10ab~ "¢
15a-20¢3
m—3n—2p2
2122y02 1
3w“3y6z‘2
2-4g3p~3
8 2gb~4
371g72
345345
5—3m2y~4
10~ 2zy—3
Te—2d3
27352
(23)—1m2y—3
4202
3~4p=5.1
(9bc?)~2
(—4m®)*(n=2)?

(2 1 2min 8
(5-2)~1p3p—5
(10~ 1pr3)-2

(3a—3)42b26—4
(—6)~1(a2b3)2c

(S—I)Zm—5(y—2z)43
152 (waSZ—1)2

_3—20—4(d06—2)2

(612 (ed)2e

275 (k=3m?2)~1n~7
(2-2)3k3 (mn-1)~2
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41.

42.

43.

44.

45.

46.

47.

48.

49.

ol

52.

53.

54.

55.

56.

57.

58.

r 2*27‘28—1 -
2rs—s }

-1 73b2

| 6~ 2a‘3b 2

_E)lcd4

-3

I
}
g

2 3x_1y‘6

(—2c3d)3 (—3cd®)
—6c2d?(4cd)?

(4zy) (—5zy®)>
10x5y3(—2y)3
mzrmz(mm:)
(mr3z)3 (mat)

5

k*g%p(k*gp*)?
(k2g3p3)? (k*gp)

(—kn®)(3k%n)?
(—6k3n2)2(—2kn?)

(2zy)3(—5ay)?
(352y®)(1022y®)
(8c2d)?(2cd®)
(9a*6%)(12ab7)
(52y°)? (40%)?
(—6bc*)(20%c%)°
(—12b2c7)2
(2pr)*(9p°r%)
(—6pr®)?
(—10R*E®)3
(5hk%)2(~12h2K)

Determine the exact value of 25719,

a) —125 b) —ﬁ ¢)

5
&
=

Determine the exact value of 24308,

a) —27 b) —o o) —

wl=
[a W
N

e) 125

ST



99.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

Determine the exact value of (12‘25)0'5.

a) % b) /3 c)

SVIEaN]

Determine the exact value of (3.375)708.

a) —% b)

e
o
N
NelPsN

. 3 1
Write d2 = d2 as a power.

1
a) d? b) 7 c) d
. 4 1
Write ¢3 +¢3 as a power.
1 5
L b 3
a) . ) ¢ c) ¢
Write <" y4> <\/y3> as a power.
a) y~io b) y c) yb
Write <4 y5> <3 y2> as a power.
& 22
a) Y15 b) Y c) Yy
2
Simplify <\/4 a5b3>
a) aibt b) adbl c) afbT
4
Simplify (2 :U3y5>
a) m%yi’ b) z%y% c) 2810

Express /72 as a mixed radical in simplest form.

a) 2V/3 b) 26 c) 29
Express v/320 as a mixed radical in simplest form.

a) %\75 b) 4V/5 c) 5v/4
Express /2560 as a mixed radical in simplest form.
a) 2¥/320 b) 85 c) 1610
Express /3000 as a mixed radical in simplest form.

a) 3v/10 b) 10 c) 10v/3

d) 3.96

S

it

d) al0pb

d) leyZO

d) 3v/2

d) 4/1063

d) 10v/15

b
B

e) 182

e) 24v/5

e) 4810

e) 10+/30
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-2
4z
71.  Simplify and rewrite using only positive exponents: < 2 )3>
Y

6 4 6
—4y x 4y 1
a) — b) — <) 1 d) 7 e) y°

72

-3
. . . . " 922
72.  Simplify and rewrite using only positive exponents: < )

(3y)?
1 " 27y° 27y° 0
Y "G *) o7 ) o 9 =5 ° v
22)72\ 7°
73. Simplify and rewrite using only positive exponents: <( ;)3 )
Y
1 y6 zt
a) —dxtyb b) 7 c) Toa2 d) 7 e) 6dalys
32)73\ !
74.  Simplify and rewrite using only positive exponents: <( ;)3 )
Y
3 9
. T Y
a) —x3y? b) 81z3y3 c) 17 d) g e) y°
5\ ' 1
75.  Simplify: <—”23> =
Y Y
Ji Sz 1 5y
= b) — 5 d) - -
2) L ) = ) By ) soy ) 2
82\
76.  Simplify: <—w—> N
Y )
) 8 b) 8 ) 8z? Q) 1 )
2 x c) —22. - nd
T y? 8z ¢ 3
7—1
77. Simplify the expression 75
a) —5 b) —% ) % d) L ¢) &
43 . 4‘5
78. Rewrite the expression G without negative exponents.
6 L 1 6 9
a) —4 b) g c) = d) 4 e) 4
54
79. Rewrite the expression = without negative exponents.
1 1
a) 3 b) =3 c) 5 d) 59 e) 512



80.

81.

82.

&3.

84.

4k~*m®
Simplify the expression #
: 16%*
a) —16k>m? b) ——& c) 4k*m? d) 8k*mS
m
-1,,-2.5
e Yy °z
Slmphfy 62—y_—1‘;:‘§
7 7
z Yz y 18y
b) =— P d) —
) 36y T ) 51657 ) 77

(4a%b®)~2(2ab71)3
(%)

Simplify the expression by using positive exponents.

éﬁi b4 2pt ad

b)ga—g ¢) d)@f

6, \=2(, 2 —2\3
Simplify the expression (m’n) " (m"n"")

by using positive exponents.

m~in 2
7 10 5
m n 1
- b) —— = d) —
a) 6 ) 5 c) mind ) 10
2 -1,232 3 -2,-3343
Simplify the expression (2y z( )3 (2)y_1 ) by using positive exponents.
Yoz
2) 27y4 ) 108 o) Y722 ) 108y°
473 Y523 108 23

16k*m3

216y

monSb

423
27y5
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Answer List
b24 P
1L 2 2. -Z 3.
VR— 5. —a? 6
7 ﬁ 8. p? 9
10. —a* 1. 1 12.
13, 30 14. 36c° 15.
6. -1 17, 42 18
R . .
19. —35y 20, 208 21.
22. < 23, - 24,
25. & 26. Lo 27.
28. 7;';;22 29. 4a2b 30.
: 4 c 56¢3
31 & 32. ¢ 33.
34. & 35. 64m?nA 36.
37. -2 38. L 39.
2 64
0. 2 41. 8 42.
CIO
43. 85 U i 45.
46, —3%5 47, ™ 48,
1 4at
9. L, 50. 51.
il 4y
52. —% 53. W 54.
5 10h8
55. 4p 56. 100 57.
58. d 59. ¢ 60.
61. a 62. b 63.
64. d 65. b 66.
67. ¢ 68. b 69.
70. ¢ 71. ¢ 72.
73. e 74. b 75.
76. d 7. e 78.
79. d 80. e 81.
82. e 83. e 84.
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